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Consider the equation y = 2x – 3.
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The graph of this equation divides 
the plane into 3 distinct sets of 
points.

Consider the equation y = 2x – 3.
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Consider the equation y = 2x – 3.

The graph of this equation divides 
the plane into 3 distinct sets of 
points.

(a) the points on the line
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Of course the points on the line make the equation true.  

Consider the equation y = 2x – 3.
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The graph of this equation divides 
the plane into 3 distinct sets of 
points.

(a) the points on the line

(b) the points ‘above’ the line

(c) the points ‘below’ the line
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Of course the points on the line make the equation true.  This lesson 
is concerned with the other two sets of points.

y = 2x – 3

Consider the equation y = 2x – 3.
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The graph of this equation divides 
the plane into 3 distinct sets of 
points.

(a) the points on the line

(b) the points ‘above’ the line

(c) the points ‘below’ the line

x

y

5

5

-5

-5

0

y = 2x – 3

Consider the equation y = 2x – 3.
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Consider the equation y = 2x – 3.
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y = 2x – 3

Consider the equation y = 2x – 3.
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point (2, 1).  Of course, the equation is true at this point.  Consider any point 
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Consider the vertical line x = 2.  This line intersects the line y = 2x – 3 at the 
point (2, 1).  Of course, the equation is true at this point.  Consider any point 
on the line x = 2 above the point (2, 1).  The value of x has not changed.  

y = 2x – 3

Consider the equation y = 2x – 3.
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Consider the vertical line x = 2.  This line intersects the line y = 2x – 3 at the 
point (2, 1).  Of course, the equation is true at this point.  Consider any point 
on the line x = 2 above the point (2, 1).  The value of x has not changed.  
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point (2, 1).  Of course, the equation is true at this point.  Consider any point 
on the line x = 2 above the point (2, 1).  The value of x has not changed.  
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point (2, 1).  Of course, the equation is true at this point.  Consider any point 
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point (2, 1).  Of course, the equation is true at this point.  Consider any point 
on the line x = 2 above the point (2, 1).  The value of x has not changed.  
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increased.  Therefore, at any point above (2, 1) on the line x = 2, y > 2x – 3 !!
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Therefore, the value of 2x – 3 has not changed.  However, the value of y has 
increased.  Therefore, at any point above (2, 1) on the line x = 2, y > 2x – 3 !!  
Clearly, what was true for the vertical line x = 2 would have been true for any 
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Consider the vertical line x = 2.  This line intersects the line y = 2x – 3 at the 
point (2, 1).  Of course, the equation is true at this point.  Consider any point 
on the line x = 2 above the point (2, 1).  The value of x has not changed.  
Therefore, the value of 2x – 3 has not changed.  However, the value of y has 
increased.  Therefore, at any point above (2, 1) on the line x = 2, y > 2x – 3 !!  
Clearly, what was true for the vertical line x = 2 would have been true for any 
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y > 2x – 3 y > 2x – 3
These inequalities involve the points above the line y = 2x – 
3.  
         y > 2x – 3 does not include the points on the line.  
         y > 2x – 3 does include the points on the line.



  

Algebra II  Two Variable Linear Inequalities

Consider these graphs.
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         y > 2x – 3 does include the points on the line.
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Good luck on worksheet #1.



  


